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(a) HMXF =4 Pl K/ NZIEF BAT?BAHE? (5%)

Ob) FHAFT=MPERATHZHEIHHTA? (5%)

(c) Goldman & Fi Nernst # #2 X, & i st X F,3 ] Nernst 7 #2 X & 177 & 1+ /i Nernst 77 #2 X & & 5t
B EAL? (5%)

2. Ligand (A)$1 Receptor (R)& 4T A (A) + (R) — (AR) — Response + (R)
XFREF XFPRUFZMBREEYR - FHRBAMZBAREFTEILEHS A T ARET
Ligand #2 Receptor & & F7 & 4 Z Response? (8%)

3. 354+¥” Acetylcholine is always an excitatory neurotransmitter.” 1g ¢] 3%

B AR A AR o (T%)

4. Please define the following terms (20%)
(a) NO  (b)Ran (c)Nuclear lamina (d) The function of MPF

5. Please describe the current model for the signal mechanism of cotranslational import (10%)

6. If the objective lens is inscribed /0.17, what does the “c0” mean? What does the “0.17” mean?
(5%)

7. Why is the two-photon microscope better than the confocal microscope? (5%)

8. Why Type O person is a universal donor, and Type AB person is an universal recipient? (5%)

9. Why the steroid cholesterol is a “temperature buffer” in membrane? (5%)

10. Define the “Endomembrane system” (5%)

11. How to demonstrate that ATP hydrolysis is not a strict requirement for microfilament elongation?

(5%)

12. Calcium is important in regulating muscle contractions. Compare the difference in calcium’s roles

between skeleton and smooth muscles. (10%)




